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SOLUTION 
 

AS 7 “CONSTRUCTION CONTRACTS” 
Ans.1  
According to paragraphs 38, 39 and 41 of AS 7, an enterprise should disclose: 
(a)   The amount of contract revenue recognized as revenue in the period; 
(b)   The methods used to determine the contract revenue recognized in the period; and 
(c)  The methods used to determine the stage of completion of contracts in progress. 
 
In case of contract still in progress the following disclosures are required at the reporting date: 
(a)   The aggregate amount of costs incurred and recognised profits (less recognised losses) 

upto the reporting date; 
(b)   The amount of advances received; and 
(c)   The amount of retentions. 
 
An enterprise should also present: 
(a)   The gross amount due from customers for contract work as an asset; and 
(b)   The gross amount due to customers for contract work as a liability. 
 
Ans.2 
As per para 35 of AS 7 “Construction Contracts”, when it is probable that total contract costs 
will exceed total contract revenue, the expected loss should be recognised as an expense 
immediately. Therefore, The foreseeable loss of ` 3 crores (` 53 crores less ` 50 crores) 
should be recognised as an expense immediately in the year ended 31st March, 2015. The 
amount of loss is determined irrespective of 
(i)   Whether or not work has commenced on the contract; 
(ii)   Stage of completion of contract activity; or 
(iii)   The amount of profits expected to arise on other contracts which are not treated as a 

single construction contract in accordance with para 8 of AS 7. 
 

AS 9 “Revenue Recognition” 
Ans.3  
As per para 12 of AS 9 „Revenue Recognition‟, „In a transaction involving the rendering of 
services, performance should be measured either under the completed service contract 
method or under the proportionate completion method, whichever relates the revenue to the 
work accomplished‟. 
 
In the given case, income accrues when the related advertisement appears before public. The 
advertisement service would be considered as performed on the day the advertisement is 
seen by public and hence revenue is recognized on that date. In this case, it is 15.03.2014, the 
date of publication of the magazine. 
 
Hence, ` 3,00,000 (` 2,40,000 + ` 60,000) is recognized as income in March, 2014. The terms 
of payment are not relevant for considering the date on which revenue is to be recognized. ` 
60,000 is treated as amount due from advertisers as on 31.03.2014 and ` 2,40,000 will be 
treated as payment received against the sale. 
 
However, if the publication is delayed till 02.04.2014 revenue recognition will also be delayed 
till the advertisements get published in the magazine. In that case revenue of ` 3,00,000 will 
be recognized for the year ended 31.03.2015 after the magazine is published on 02.04.2014.  
 
The amount received from sale of advertising space on 10.03.2014 of ` 2,40,000 will be 
considered as an advance from advertisers for the year ended 31st March, 2014. 
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Ans.4  
As per AS 9 “Revenue Recognition”, in a transaction involving the sale of goods, performance 
should be regarded as being achieved when the following conditions are fulfilled: 
(i)   the seller of goods has transferred to the buyer the property in the goods for a price or all 

significant risks and rewards of ownership have been transferred to the buyer and the 
seller retains no effective control of the goods transferred to a degree usually associated 
with ownership; and 

(ii)   no significant uncertainty exists regarding the amount of the consideration that will be 
derived from the sale of the goods. 

Case (i) 
The sale is complete but delivery has been postponed at buyer‟s request. M/s Paper Products 
Ltd. should recognize the entire sale of ` 60,000 for the year ended 31st March, 2015. 
 
Case (ii) 
20% goods lying unsold with consignee should be treated as closing inventory and sales 
should be recognized for ` 1,20,000 (80% of ` 1,50,000). In case of consignment sale revenue 
should not be recognized until the goods are sold to a third party. 
 
Case (iii) 
In case of goods sold on approval basis, revenue should not be recognized until the goods 
have been formally accepted by the buyer or the buyer has done an act adopting the 
transaction or the time period for rejection has elapsed or where no time has been fixed, a 
reasonable time has elapsed. Therefore, revenue should be recognized for the total sales 
amounting ` 1,20,000 as the time period for rejecting the goods had expired. 
 
Case (iv) 
Trade discounts given should be deducted in determining revenue. Thus ` 39,000 should be 
deducted from the amount of turnover of ` 7,80,000 for the purpose of recognition of revenue. 
Thus, revenue should be ` 7,41,000. 
Thus total revenue amounting ` 10,41,000 (60,000 + 1,20,000+ 1,20,000 + 7,41,000) will be 
recognized for the year ended 31st March, 2015 in the books of M/s Paper Products Ltd. 
 

AS 19 “LEASES” 
 
Ans.5 
For the purpose of accounting AS 19 ‘Leases’ classify the lease into two categories as follows: 
(i)   Finance Lease 
(ii)   Operating Lease 
Finance Lease: It is a lease, which transfers substantially all the risks and rewards incidental to 
ownership of an asset to the lessee by the lessor but not the legal ownership. As per para 8 of 
the standard, in following situations, the lease transactions are called Finance lease: 
• The lessee will get the ownership of leased asset at the end of the lease term. 
• The lessee has an option to buy the leased asset at the end of the lease term at price, 

which is lower than its expected fair value at the date on which option will be exercised. 
• The lease term covers the major part of the life of asset even if title is not transferred. 
• At the beginning of lease term, present value of minimum lease rental covers the initial 

fair value. 
• The asset given on lease to lessee is of specialized nature and can only be used by the 

lessee without major modification. 
Operating Lease: It is lease, which does not transfer all the risks and rewards incidental to 
ownership. Lease payments under an operating lease should be recognised as an expense in 
the statement of profit and loss on a straight line basis over the lease term unless another 
systematic basis is more representative of the time pattern of the user’s benefit. 
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Ans.6  
As per AS 19 ‘Leases’, a finance lease is a lease that transfers substantially all the risks and 
rewards incident to ownership of an asset. 
As per para 8 of the standard, classification of lease into a finance lease or an operating lease 
depends on the substance of the transaction rather than its form. Three situations which would 
normally lead to a lease being classified as a finance lease are: 
(a)   The lessor transfers ownership of the asset to the lessee by the end of the lease term; 
(b)   The lessee has the option to purchase the asset at a price which is expected to be 

sufficiently lower than the fair value at the date the option becomes exercisable such that, 
at the inception of the lease, it is reasonably certain that the option will be exercised; 

(c)   The lease term is for the major part of the economic life of the asset even if title is not 
transferred. 

 
Ans.7 
(i)   Determination of Nature of Lease 
  It is assumed that the fair value of the leased equipment’s is equal to the present value of 

minimum lease payments. 
  Present value of residual value at the end of 3rd year  = ` 60,000 x 0.7513 
          = ` 45,078 
  Present value of lease payments     = ` 6,00,000 – ` 45,078 
           = ` 5,54,922 
  The percentage of present value of lease payments to fair value of the equipment is 
     (` 5,54,922 / ` 6,00,000) x 100 = 92.487%. 
  Since, it substantially covers the major portion of the lease payments, the lease 

constitutes a finance lease. 
(ii)   Calculation of Unearned Finance Income 
  Annual lease payment = ` 5,54,922 / 2.4868 = ` 2,23,147 (approx) 
  Gross investment in the lease = Total minimum lease payment + unguaranteed residual 

value 
    = (` 2,23,147 × 3) + ` 60,000 = ` 6,69,441 + ` 60,000 = ` 7,29,441 
  Unearned finance income = Gross investment - Present value of minimum lease 

payments and unguaranteed residual value 
    = ` 7,29,441 – ` 6,00,000 = ` 1,29,441 
Ans.8  
As per para 11 of AS 19 “Leases”, the lessee should recognize the lease as an asset and a 
liability at the inception of a finance lease. Such recognition should be at an amount equal to 
the fair value of the leased asset at the inception of lease. However, if the fair value of the 
leased asset exceeds the present value of minimum lease payment from the standpoint of the 
lessee, the amount recorded as an asset and liability should be the present value of minimum 
lease payments from the standpoint of the lessee. 
Value of machinery 
In the given case, fair value of the machinery is ` 7,00,000 and the net present value of 
minimum lease payments is ` 6,99,054. As the present value of the machine is less than the 
fair value of the machine, the machine will be recorded at value of ` 6,99,054. 
 
Calculation of finance charges for each year 

Year Finance 
charge  

`̀̀̀ 

Payment  
    

`̀̀̀ 

Reduction in 
outstanding liability  

`̀̀̀ 

Outstanding 
liability  

`̀̀̀ 

1st year beginning 
End of 1st year 
End of 2nd year 
End of 3rd year 

- 
1,04,858 
75,587 
41,925 

- 
3,00,000 
3,00,000 
3,00,000 

- 
1,95,142 
2,24,413 
2,58,075 

6,99,054 
5,03,912 
2,79,499 
21,424** 
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Ans.9 
(i)   If it becomes certain at the inception of lease itself that the option will be exercised by the 

lessee, it is a Finance Lease. 
(ii)   The lease will be classified as a finance lease, since a substantial portion of the life of the 

asset is covered by the lease term. 
(iii)   Since the asset is procured only for the use of lessee, it is a finance lease. 
(iv)   The lease is a finance lease if X = Y, or where X substantially equals Y. 
 
Ans.10 
As per para 3 of AS 19 ‘ Leases’ the interest rate implicit in the lease is the discount rate that, 
at the inception of the lease, causes the aggregate present value of 
(a)   The minimum lease payments under a finance lease from the standpoint of the lessor; 

and 
(b)   Any unguaranteed residual value accruing to the lessor,  
To be equal to the fair value of the leased asset. 
Present value at discount rate of 10% 

Year Lease Payments (`̀̀̀) Disc. Factor (10%) Present Value (`̀̀̀) 

1 
2 
3 
4 
5 
5 
5 

80,000 
80,000 
80,000 
80,000 
80,000 
40,000 
24,000 

0.909 
0.826 
0.751 
0.683 
0.621 
0.621 
0.621 

72,720 
66,080 
60,080 
54,640 
49,680 
24,840 
14,904 

 Total  3,42,944 
Present value at discount rate of 14% 

Year Lease Payments (`̀̀̀) Disc. Factor (10%) Present Value (`̀̀̀) 

1 
2 
3 
4 
5 
5 
5 

80,000 
80,000 
80,000 
80,000 
80,000 
40,000 
24,000 

0.877 
0.769 
0.675 
0.592 
0.519 
0.519 
0.519 

70,160 
61,520 
54,000 
47,360 
41,520 
20,760 
12,456 

 Total  3,07,776 

Interest Rate Implicit on Lease = 10% + 
��%	���%

�,�	,
����,��,��� x (3,42,944 – 3,20,000) 

= 10% 2.609% = 12.609% or say 12.61% 
 
Ans.11  
(i)   Determination of nature of lease 
  Fair value of asset ` 7,00,000 
  Unguaranteed residual value ` 70,000 
  Present value of residual value at the end of 4th Year  = ` 70,000 x 0.683 = ` 47,810 
  Present value of lease payment recoverable   = ` 7,00,000 - ` 47,810 
           = ` 6,52,190 
  The percentage of present value of lease payment to fair value of the asset is 
           = (` 6,52,190/` 7,00,000)x100 
           = 93.17% 
  Since it substantially covers the major portion of lease payments and life of the asset, the 

lease constitutes a finance lease. 
(ii)   Calculation of Unearned finance income 
  Annual lease payment   = ` 6,52,190 / 3.169 
        = ` 2,05,803 (approx.) 
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  Gross investment in the lease = Total minimum lease payments + unguaranteed residual 
value. 

        = (` 2,05,803 x 4) + ` 70000 
        = ` 8,23,212 + ` 70,000 = ` 8,93,212 
  Unearned finance income = Gross investment – Present value of minimum lease 

payment and unguaranteed residual value. 
        = ` 8,93,212 – ` 7,00,000 (` 6,52,190 + ` 47,810) 
        = ` 1,93,212 
 
Ans.12  
Determination of Nature of Lease 
  Present value of unguaranteed residual value at the end of 3rd year 
         = ` 50,000 x 0.7513 
         = ` 37,565 
  Present value of lease payments    = ` 5,00,000 – ` 37,565 
         = ` 4,62,435 
  The percentage of present value of lease payments to fair value of the equipment is 
     (` 4,62,435/ ` 5,00,000) x 100 = 92.487%. 
  Since, lease payments substantially covers the major portion of the fair value; the lease 

constitutes a finance lease. 
  Calculation of Unearned Finance Income 
  Annual lease payment = ` 4,62,435/ 2.4868 =` 1,85,956 (approx.) 
  Gross investment in the lease = Total minimum lease payments + unguaranteed  
                  residual value 
        = (` 1,85,956 × 3) + ` 50,000 
        = ` 5,57,868 + ` 50,000 = ` 6,07,868 
  Unearned finance income    = Gross investment - Present value of minimum lease   
                payments and unguaranteed residual value 
        = ` 6,07,868 – ` 5,00,000 = ` 1,07,868 
 

AS 20 “EARNINGS PER SHARE” 
Ans.13 

Computation of weighted average number of shares outstanding during the period 

Date No. of equity 
shares 

Period 
outstanding 

Weights 
(months) 

Weighted average 
number of shares 

(1) (2) (3) (4) (5) = (2) x (4) 

1st April, 2008 
1st August, 2008 
 
31st March, 2009 

1,500 (Opening) 
600 (Additional 

issue) 
500 (Buy back) 

12 months 
 

8 months 
0 months 

12/12 
 

8/12 
0/12 

1,500 
 

400 
- 

Total 1,900 

 

Basic Earnings Per Share = 

��	������	��	����	���	���	������	������������	��	����� 	!�����������

"��#����	$%���#�	
�&���	��	����� 	!�����	������'��'#	����'#	���	������ 

 
 

= 
	,�(,���

�,
���	)*+,-)	 = `̀̀̀144.74 
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Ans.14.   Computation of Earnings Per Share 
 

 Earnings  ` Shares  Earnings per share 
` 

Net Profit for the year 2009-10 

Weighted  average  number  of  shares 

outstanding during the year 2009-10 

Basic Earning Per Share 

= 
��,��,���
�	,��,��� 

Number of shares under option 

Number of shares that would have been 

issued  at  fair  value  (As  indicated  in 

Working Note) 

/2,00,000	 × �(
	(3   

Diluted Earnings Per Share 

4��,��,�����	,5�,��� 6  

30,00,000 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

12,00,000 

 

 

 

2,00,000 

 

 

 

(1,20,000) 

_________ 

 

 

 

 

2.50 

 

 

 

 

 

 

 

 

 

2.34 30,00,000 12,80,000 

 

Working Note: 

 

The earnings have not been increased as the total number of shares has been increased 
only by the number of shares (80,000) deemed for the purpose of the computation to 
have been issued for no consideration 

 

Ans.15. 

 

  `̀̀̀ in crores 

Profit after depreciation but before VRS Payment 

Less: Depreciation – No. adjustment required 

 VRS payments 

 Provision for taxation 

 Fringe benefit tax 

Net Profit  

No. of shares 

- 

32.10 

10.00 

5.00 

  

75.00 

 

 

 

(47.10) 

27.90 

9.30 crores 

  

EPS = 
789	:;<=>9	

7<.<=	@AB;8@	 = 
	�.
�

.�� 	= 3  per share 
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Ans.15.  

(a) Computation of basic earnings per share (EPS) 

 Year 2009 -10 
(`) 

Year 2010 – 
11 (`) 

EPS for the year 2009-10 as originally reported 

  

= 
CDE	FGHIJE	HI	EKD	LDMG	MEEGJNOEMNPD	EH	DQOJEL	RMKGDKHPSDGR	

TDJUKEDS	MVDGMUD	WOXNDG	HI	DQOJEL	HOEREMWSJWU	SOGJWU	EKD	LDMG 

 

= 
`	Z[,\\,\\\

]Z,\\,\\\	RKMGDR 

2.08  

EPS  for the year 2009-10 restated for rights issue  

 

= 
`	Z[,\\,\\\

^]Z,\\,\\\	RKMGDR		×].\_` 

1.97 

 (approx.) 

 

EPS for the year 2010-11 including effects of right issue  

 

= 
a\,\\,\\\

/]Z,\\,\\\×	 b]Z3c/]_,\\,\\\×	
d
]Z3	

 

  

 

2.64 
(approx.) 

 

Working Notes:  

 

Fair value of all outstanding shares immediately prior to exercise of rights + total amount received from exercise 
Number of shares outstanding prior to exercise + number of shares issued in the exercise 

 

1. Computation of theoretical ex-rights fair value per share 

 

  
^`Ze	×]Z,\\,\\\	RKMGDR`	c	^`	ZZ	×a,\\,\\\	RKMGDR`

]Z,\\,\\\	RKMGDR	c	a,\\,\\\	RKMGDR  

 

2. Computation of adjustment factor        
   

=	 fMJG	VMPOD	FDG	RKMGD	FGJHG	EH	DgDGhJRD	HI	GJUKER	iKDHGDEJhMP	Dg�GJUKE	VMPOD	FDG	RKMGD =	 `	Ze
`	Z_.[ = ]. \_	^MFFGHg. `  

 

Ans.16.  Calculation of number of equity shares allotted to be debenture holders 

 

 No. of debenture  

Total number of debentures 
Less: Debenture holders not opted for conversion 
  
Option for conversion 
 

Number of debentures for conversion  /27,500	 ×	 	����3 
 
Redemption value at a premium of 5% (5,500 x `̀̀̀ 105) 
 

Number of equity shares to be allotted 
`	(,��,(��

`	�(  

30,000 
(2,500) 
27,500 

20% 
 

5,500 
 
    

`̀̀̀ 5,77,500 
 

38,500 shares 
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Ans.17. (i) As per para 16 of AS 20, “Earnings Per Share”, the weighted average number of equity 
shares outstanding during the period reflects the fact that the amount of shareholders’ 
capital may have varied during the period as a result of a larger or less number of shares 
outstanding at any time. For the purpose of calculating basic earnings per share, the 
number of equity shares should be the weighted average number of equity shares 
outstanding during the period. 

Weighted average number of equity shares 

 

7,20,000 X 5/12 

9,60,000 X 5/12 

8,40,000 X 2/12 

= 3,00,000 shares  

= 4,00,000 shares  

= 1,40,000 shares  

= 8,40,000 shares  

(ii) Earning per share 

 

Basic EPS 2010-11 = ` 24,00,000/24,00,000 = ` 1 

Adjusted EPS 2009-10 = ` 7,20,000/24,00,000 = ` 0.30 

 

Since the bonus issue is an issue without consideration, the issue is treated as if 
it had occurred prior to the beginning of the year 2009-10, the earliest period 
reported. 

 

Ans. 18. 

As per AS 20, “Earnings Per Share”, the weighted average number of equity shares 
outstanding during the period reflects the fact that the amount of shareholders’ capital may 
have varied during the period as a result of a larger or lesser number of shares outstanding at 
any time. 

 

For the purpose of calculating basic earnings per share, the number of equity shares should 
be the weighted average number of equity shares outstanding during the period. 

 

Computation of weighted average number of shares outstanding during the period 

 

Date No. of equity 
shares 

 
Period 

outstanding 

Weights 

(months) 

Weighted 
average 

number of 
shares 

(1) (2) (3) (4) (5)= (2) x (4) 

1st April, 2014 50,00,000 
(Opening) 

3 months 3/12 1,25,000 

30th June 2014 6,00,000 (after 
Additional issue) 

6.5 months 6.5/12 3,25,000 

15th Jan, 2015 5,50,000 (after 
Buy back) 

2.5 months 2.5/12 1,14,583 

31st March, 2015 5,50,000 
(Balance) 

0 month 0/12 - 

Total  5,64,583 
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AS 24 “DISCOUNTING OPERATIONS” 

 

Ans.19.  

 

 

AS 26 “INTANGIBLE ASSETS” 

 

 

Ans. 21.  

As per para 41 of AS 26 “Intangible Assets”, expenditure on research should be recognized as 
an expense when it is incurred. An intangible asset arising from development (or from the 
development phase of an internal project) should be recognized if, and only if, an enterprise 
can demonstrate all of the conditions specified in para 44 of the standard. An intangible asset 

(arising from development) should be derecognised when no future economic benefits are 
expected from its use according to para 87 of the standard. Therefore, the manager cannot 
defer the expenditure write off to future years. 

Hence, the expenses amounting ` 20 lakhs incurred on the research and development project 

has to be written off in the current year ending 31st March, 2011. 

 

Ans.22. 

Amortization of cost of patent as per AS 26 

 

Year Estimated future 
cash flow 

(`̀̀̀ in lakhs) 

Amortization Ratio Amortized Amount 

(`̀̀̀ in lakhs) 

1 

2 

3 

4 

5 

6 

200 

200 

200 

100 

100 

50 

.25 

.25 

.25 

.40 (Revised) 

.40 (Revised) 

.20 (Revised)  

100 

100 

100 

40 

40 

20 

400 

 

In the first three years, the patent cost will be amortised in the ratio of estimated future 
cash flows i.e. (200: 200: 200: 100: 100). 

The unamortized amount of the patent after third year will be `̀̀̀ 100 (400-300) which will 
be amortised in the ratio of revised estimated future cash flows (100:100:50) in the fourth, 
fifth and sixth year. 

 

Ans.23. 

(1)  Research Expenditure - According to para 41 of AS 26 ‘Intangible Assets’, the 
expenditure on research of new process design for its product `̀̀̀ 530 lakhs should be 
charged to Profit and Loss Account in the year in which it is incurred. As the question 
states that the expenditure was incurred as ` 360 Lakhs in 2011-12 and `̀̀̀ 230 Lakhs in 
the financial year 2012-13 it should be written off as an expense in these two financial 
years 

(2)  Cost of internally generated intangible asset - The question states that the development 
phase expenditure amounting `̀̀̀ 360 lakhs incurred upto 31st March, 2012 meets asset 
recognition criteria. As per AS 26 for measurement of such internally generated 
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intangible asset, fair value can be estimated by discounting estimated futures net cash 
flows. 

 

Savings (after tax) from implementation of new design for next 5 years 

Company’s cost of capital  

Annuity factor @ 10% for 5 years  

Present value of net cash flows (`̀̀̀ 80 lakhs x 3.7908)  

80 lakhs p.a. 

10 % 

3.7908 

303.26 lakhs 

 

The cost of an internally generated intangible asset would be lower of cost value `̀̀̀ 360 
lakhs or present value of future net cash flows `̀̀̀    303.26 lakhs. 

Hence, cost of an internally generated intangible asset will be `̀̀̀ 303.26 lakhs. 

The difference of `̀̀̀ 56.74 lakhs (i.e. `̀̀̀ 360 lakhs – `̀̀̀ 303.26 lakhs) will be amortized by 

the enterprise for the financial year 2011-12. 

 

(3)  Amortisation - The company can amortise `̀̀̀ 303.26 lakhs over a period of five years by 

charging `̀̀̀ 60.65 lakhs per annum from the financial year 2012-13 onwards. 

 

Ans.24. 

 

Calculation of cost of software (intangible asset) acquired for internal use 

 

Purchase cost of the software  
Less: Trade discount @ 5%  
 
Cost in `̀̀̀ (US $ 95,000 x `̀̀̀ 52) 
 Add: Import duty on cost @ 20% (`̀̀̀)  
 

Purchase tax @ 10% (`̀̀̀)  
Installation expenses (`̀̀̀)  
Profession fee for clearance from customs (`̀̀̀)  

Cost of the software to be capitalized (`̀̀̀)  

$ 1,00,000 

($ 5,000) 
$ 95,000 

49,40,000 
9,88,000 

59,28,000 
5,92,800 

25,000 

20,000 

65,65,800 

 

Note: Since entry tax has been mentioned as a recoverable / refundable tax, it is not included 

as part of the cost of the asset. 

 
Ans. 25.  
As per para 63 of AS 26 'Intangible Assets', the depreciable amount of an intangible asset 
should be allocated on systematic basis over the best estimate of its useful life. There is a 
rebuttable presumption that the useful life of an intangible asset will not exceed ten years from 
the date when the asset is available for use.  
Company has been following the policy of amortisation of the intangible asset over a period of 
15 years on straight line basis. The period of 15 years is more than the maximum period of 10 
years specified as per AS 26. 
Accordingly, the company would be required to restate the carrying amount of intangible asset 
as on 01.04.2013 at ` ` ` ` 72 lakhs i.e. ` ` ` ` 120 lakhs less ` ` ` `  48 lakhs. 
The difference of ` ` ` ` 16 Lakhs (`̀̀̀ 88 lakhs – ` ` ` ` 72 lakhs) will be adjusted against the opening 
balance of revenue reserve.The carrying amount of `̀̀̀    72 lakhs will be amortised over 
remaining 6 years by amortising ` ` ` ` 12 lakhs per year. 
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Ans.26. 
 
As per AS 26 ‘Intangible Assets’ 
(i)   Expenditure to be charged to Profit and Loss account for the year ending 

31.03.2013  
  `̀̀̀ 32 lakhs is recognized as an expense because the recognition criteria were not met 

until 1st December 2012. This expenditure will not form part of the cost of the production 
process recognized as an intangible asset in the balance sheet. 

 
(ii)  Carrying value of intangible asset as on 31.03.2013 

At the end of financial year, on 31st March 2013, the production process will be 
recognized (i.e. carrying amount) as an intangible asset at a cost of ` 28 (60-32) lacs 
(expenditure incurred since the date the recognition criteria were met, i.e., from 1st 
December 2012). 

 
(iii)   Expenditure to be charged to Profit and Loss account for the year ended 

31.03.2014 
 

 (` ` ` ` in lacs) 

Carrying Amount as on 31.03.2013  
Expenditure during 2013 – 2014  
Book Value  
Recoverable Amount  
Impairment loss  

28 

90 

118 

(82) 

36 
 
  `̀̀̀ 36 lakhs to be charged to Profit and loss account for the year ending 31.03.2014. 
 
(iv)   Carrying value of intangible asset as on 31.03.2014 
 

 (` ` ` ` in lacs) 

Book Value 
Less: Impairment loss  
Carrying amount as on 31.03.2014  

118 
(36) 

82 
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AS 29 ‘PROVISIONS, CONTINGENT LIAIBILITIES AND CONTINGENT ASSETS’ 
 

Ans. 27. Provision to be made for warranty under AS 29 ‘Provisions, Contingent Liabilities 
and Contingent Assets’ 

As at 31st March, 2012  =  `̀̀̀ 40,000 x .02 + `̀̀̀ 25,000 x .03 

      = `̀̀̀    800 + `̀̀̀ 750 = `̀̀̀ 1,550 

 

As at 31st March, 2013  =  `̀̀̀    25,000 x .02 + `̀̀̀ 90,000 x .03 

      =  `̀̀̀ 500 + `̀̀̀    2,700 = `̀̀̀ 3,200 

 

Amount debited to Profit and Loss Account for year ended 31st March, 2013 

 `̀̀̀ 

Balance of provision required as on 31.03.2013 

Less: Opening Balance as on 1.4.2012 

Amount debited to profit and loss account 

3,200 

(1,550) 
1,650 

 

Note: No provision will be made on 31st March, 2013 in respect of sales amounting 
`̀̀̀ 40,000 made on 19th January, 2011 as the warranty period of 2 years has already 
expired. 

 

Ans. 28. As per para 14 of AS 29 'Provisions, Contingent Liabilities and Contingent Assets', a 
provision should be recognised when: 

(i)  An enterprise has a present obligation as a result of past event; 

(ii)  It is probable that an outflow of resources embodying economic benefits will 
be required to settle the obligation; and 

(iii)  A reliable estimate can be made of the amount of the obligation. 

If these conditions are not met, no provision should be recognised. 

A contingent liability is disclosed, unless the possibility of an outflow of resources 
embodying economic benefits is remote. The possibility of an outflow of resources 
embodying economic benefits seems to be remote in the given situation, since the 
directors of WZW Ltd. are of the opinion that the claim can be successfully resisted 
by the company. Therefore, the company shall not disclose the same as contingent 
liability. However, following note in this regard may be given in annual accounts of 
the company:  

"Litigation is in process against the company relating to a dispute  ith a competitor 
who alleges that the company has infringed patents and is seeking damages of `̀̀̀ 
1,000 lakhs. 

However, the directors are of the opinion that the claim can be successfully resisted 
by the company". 
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